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B.Tech.

(SEM. IIT) ODD SEMESTER THEORY &_,
EXAMINATION 2013-14

COMPUTER GEEK

SWITCHING THEORY compgeek.co.in
7~me : 3 Hours Total Marks : 100 .
Note :-Attempt all questions. '
1. Attempt any four : . (4%x5=20)

(a) Perform the following operation :
(i) (1011),-(0100), using 1’s complement method
(i) (4),,— (9),,using 2’s complement method
(i) Add (569),,and (687),, in BCD. '
(iv) Obtain the XS — 3 code for (428),,
) (v) Encode the d_ecimal number 46 to gray code.
(b) A bit word 1011 is to be transmitted. Construct the even
parity seven bit Hamming code for the data.
(c) Write a short note about error detection and correction
codes. Describe the cyclic codes.
(d) Simplify the following logic expression :
~ @ Y=mM(,3,9)
i Y=XIM(24,6)
(e) Minimize the following expression using the K-map :
Y=Zm(l,5,6,7,11,12)
(f) Distinguish between static and dynamic hazard.
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5. Attempt any four: : (4x5=20)
(a) Distinguish between static and dynamic hazard.

(b) For the network shown in following diagram, write the
transient disjunctive normal formula.

A o—] AB
B

Y
c — 15

(c) Classify and characterize the various types of memories.

(d) , Draw a dynamic CMOS shift register for one stage and
draw its block diagram. Explain the operation.

(e) Draw the diagram of a 16-bit ROM-array.

(t) Explain the various types of ROM and how it is
programmed.
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